www.examrajasthan.com

Series W Question Booklet No. : 7210 689
Code : PAPER CODE : ST2-2012
No. of pages in Question Booklet / Wo3-qftas @ & 7% 104
1. Roll 2. OMR Answer Sheet
No./ mu. Te begﬁed in by
h te
e . aﬂ?m.ﬂ?n ?ﬂg }mhi:
{ aramet gy T )
*** 3. Candidate’s Name / St &7 98 *** 4. Candidate’s Signature / W&md & 7¥RT
. . B
*** As given in Application Form ;| 9 #Ee-99 § e 41 £ |
Invigilator's Signature / 31&& & GRS
I. 2.

There are 150 objective multiple choice questions in this paper. This Question Booklet is made up of the following

four sections : Section-l, Il & Ill of 30-30 questions each and Section-IV is of 60 questions. The candidate has to

attempt all sections. Each question is of one mark. There is no negative marking for wrong answer
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PAPER CODE : ST2-2012

Total questions : 150 Time period : 90 minutes Maximum Marks : 150
Sect = No.of | OQuestion Nos. Page Nos.
o Contents . Questions From To From Ta
n Child Development and Pedagogy 30 1 30 3 14
(11) Language I (Only One Language] e —-a 60
As selected by the candidate as medium of
mstruction in the Online Application Form as
Language-| from the Languages given below - | s
ndi 30 3 60 15 18
English — 30 a1 60 19 22
Sanskrit | ~ =< —= 60 23 26
Urdu 30 , 31 60 27 30
Sindhi 30 31 60 31 | 34
Punjabi 30 31 60 as 38
= = “Gujarati 30 31 60 39 432
1 Language II (Only One Ll.nfln.(e 30 61 90
(mm As sebe::l:gd by the candidate as a.nguaige—fl [ other
" than the Language-l | in the Online Apphcation
Form from the Languages given below : :
Hindi 30 61 90 43 46
English 30 61 90 47 50
Banskrit 30 61 20 51 54
Urdu 30 61 20 ‘55 58
Bindhi 30 61 90 59 62
Punjabi 30 61 S0 63 b6
Gujarati 30 61 90 67 70
(V) (TV a) Mathematics and Science 60 91 150 71 86
{gﬁ— Mathematics and Science Teacher)
(IV b) Social Studies 60 91 150 87 98
" (For Social Studies Teacher)
OR
For any other Subject Teacher
(Can choose either IV a or IV b)

Note: 1. In Sections Il and lIl, a candidate has to attempt the questions of Languages compulsorily, sclicied
as Language - | and Language — I1 in the Online Application Form.
2. In Sections IV, it is compulsory to attempt the questions of Section IV {a} or Section IV (b) as selected
subject in Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2

| Read the instructions in English & Hindi at Page No. 104, last page of this booklet. |
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SECTION - I / ®UE - |
CHILD DEVELOPMENT AND PEDAGOGY
aret faenra wd foremeres

There are 30 questions in all in this Section.

All questions are compulsory.
WMEed F9 309 T |
vt 7T e §

1. Which of the following statements is not true about the effects of malnitrition ?
(A) 1t affects the brain cells in the later years of i.il"e
(B) It affects the child’s learning abilities
(C)  The children tend to be depressed and nervous
(D) It affects growth in height.
FUTTF IHE F I Y A T G FE- wyE wem A ® 2
A e % e &l # 7w wfaws w5 A B e
(B) 7 T & H@a & dramsi w1 ywied w ¥ |
_ 0 = fow wE swifEa wa §
(D) ¥ F7 H Awifad F=a & |
2.  Which of the following is not an outward expression during puberty ?
(A) Rebellion against authority (B) Restlessness
(C) Assertion of independence (D) Prefer sedentary play to the active play.
71wy g | fr F § 90 am afefs @i ¢ 2
(A) AT/ m.ﬁ? faydia fadiy (B) i<

[i:] sreafasda & wfa sme « (D) ofFg S & F 43 @ 1 der Aiuw T |

-
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3.  Which of the following statements is not in agreement with the development of middle
school children ?

(A)
(B)
(C)

(D)

The social behaviour is increasingly influenced by peer group norms
Most children do not grow rapidly during this period
Self-efficacy becomes an important influence on intellectual and social behaviour

Most of the students are typically self-centred.

fr= § A wi-w Ty fafea =0 w0 % faafdd & faem @ weafa == @ ?

(A)
(B)
(C)

D)

5

T SRR ITI SHAEE Ty % AR @y o d
59 g1 ¥ sAfymwin aes og i @ gfs e T8 w0

difg® vd gmfos sFaen W @-yyifam w1 geagol gy g €
wfimte famneff fadm vy @ wFfza B o &

4.  Which of the following statements is correct about the relationship of learning and
maturation ?

{A)

(B)

(C)

(D)

Where human development is due to maturation alone, individual would be
reduced to a minimum.

With the limitation of heredity potential, children can develop beyond a certain
limit.

With increased effort children can learn even when they are not developmentally
ready to learn.

Children’s innate capacities must be encouraged to develop without

consideration of time.

Hum e firEm F ey i e A s m s A 2

~ (A
(B)
(o)

D)

afg 7 faswm Faa sftvgam @ @ @ w9 S e o 9 difng © 9@
HYERY IS |HAl S HW & SR, G U fAfved @i 8 e s faefaa @ awa §

e fawE #1 3fe ¥ 99 diwd F 7w i € w=m of 3 afus waw ¥ g @ e
(N

et &1 stiead wigmal w5t fa oy fa=n fawfa 9 & o9 veafes fen s
=feq |

[TREY "0 REIY R T
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5.  One of the principles of development is that happiness varies at different periods in
the development pattern. According to this principle

(A)  the first year of life is usually the happiest period

(B) the puberty is the happiest period of life and the first year is also the happiest
period of life

(C) the puberty is the most unhappy period of life

(D) the first year of life is the happiest and the puberty is the most unhappy period
of life.

LY

ﬁmmwﬁuéan%%ﬁmm#ﬁﬁmmﬁqsﬁ fim-fim ot & | 59 sfufam &
AR
(A) Sffes 1 999 99 gEd A gt = wE am #
(B) 97 Ty Fre wE Sftad 1 wom ad o sitem % ey st gt w1 Fre e g
) mﬂﬁum?ﬁaﬂmmaxfwgmmﬂmé"
(D) e = v wad sifyw gt w1 wd 99 w9ty w1 gl afus gt Fm Em R
6.  which of the following contributes most in the learning and development of children ?
(A)  Family, Peer group and Television (B) Family, Peer group and Teacher
(C) Family, Play and Compulter (D) Family, Play and Tourism.
= A @ F-w T F sfum @ faew § ved afus Amem am R 2
@ S, e g o (@) e, we ot
() viEnr, @« uE Fege (D) ufERr, @« wd gdeq |
" 7.  To which of the following statements should a teacher agree ?
(A) Intrinsic motivation occurs when learners do something to experience external

satisfying results.

(B)] Exirinsic motivation occurs when learners do something to earn external

rewards.
(C) External rewards lead to permanent behaviour change.

(D) Extermal rewards lead to intrinsic motivation.

T E 602 @~ : | P.T.O.
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T g # e § | frw Fu9 | gewa o 9fed ?

(a) e sfidn 98 a6 2, s st 9@ weweEs oftoms 1 oave F6 % el
w4 €

B) =@ AEon 79 gt &, s\ afarmret e g e w09 o TR wd wm #
(€ = TR A et smeRn giEdy g R
M) =R [ER A AfiTm W wE

8. A teacher gives a blank outline map that shows the location of rivers, mountains,

F

valley and plains etc. He asks students to figure out where the major cities. railways
. A ]
and highways connecting the major cities might be located. Students are not permitted

to qunsult books or other maps. Here the teacher's approach is
(A)  Discovery approach (B) Concept map
(C) Problem solving approach (D) Enquiry approach.

wmﬁﬂﬁﬁaaﬁmmﬁ%ﬁaqﬁﬂ,mﬁﬂﬁﬁﬁmﬁﬁaﬁmﬁmt | 98
faenfeil F) qEa TR, T 3 TE T S a@ T @ fafed w0 S ww ¢ | i
F P TEIEH 9 AR F AT FA H W A T S § | TR AAE F g wgE

I #
(A) @ 39T (B) #EfaF fream
(C) U= GHIMH ITH D) FEY IO |

9.  Which of the following is not an example of Bandyra's observational learning ?
(A)  Students learning of dissection of earthworm -
(B) Enthusiasm about cricket
(C)  Disdain for the study of social study
(D) Packing the school bag on ringing of school bell.
= A | ®H-W g A0 F s avia sfrmw At @ 2
() Taofdd gr =0 & fo=2e =1 di@
(B) TF&he = IR
(C, wmifS Awraa & wia Argee
(D) qﬁfaﬁﬁ‘e’tm\maﬁmﬁzmﬂml

BT HET [ 602 |
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Rajesh misses a month of school because of his illness. When he returns to gchool, he
does not know how to do his long division assignments. After a number of frustrating
experiences in which he fails long division problems, he feels anxious whenever he
encounters a division task. As per the classical conditioning theory emotional
unconditioned stimulus [ ucs ) is

(A) Anxiety about failure (B] Failure / Frustration
tCJ Long division problem (D) Anxiety about long division problems.

Ty A F Y UF 9EH o faaeE 9 T v faaem T d 39 wm F o wae #
FC T o | FE An F o SvEl § sahera 19 el | o Wi, Jael & oEa @
¥¢ fafaa @ s & | wreta sy fagra ¥ qaifas wamers mnifas 399 €

(A)  srEEE H1 AR (B) HEFEA / A
(C) & Wi % Hare (D) Hﬁm%maﬂ—ﬁ{ﬁmi
Which type of learning mainly influences personality of the child ?
(A}  Trial and Error learning B fmitation learning
(C) Insightful learning | (D) Instrustional learning.
e F safda # fFE v = A sifuys gwfas F d 2
(A vIe wE Ffe afaom | T s
A0 wfeye sfemm o) I st

Which of the following statements about mdi'-.'ldu.ai differences is true ?

(A}  If the intelligence level of the students is same, still the level of achievement will

be different.
(B) All the children do not have some similarities.

(C) The curve showing individual differences is tilted to one direction or pole.

(D}  Individual differences are due to heredity.
=i fafiemed @ safa e d 3 sh-a s wdt & 2

A afe ferenfefdl =1 qfe w2 v & w1 off symfes & fafem &) vt ®

vy BV e § O ot TuEe AR et
€ =fmmEimmfiF s damREr nw Emat g s g
(D) =afEET fafierr) dvsra S A E 1

MUY BRI 802 | IPETO
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13. The following is an example of

Contents of
Tombs

- Wall
Frescos

Jewellery

\
Stone Statue

Large Burial ™
- .. ~\_Complexes

(A Diagram B (B) Model
{C} Concept map (D)  Graph.
e o SeETw #

fag e foa =1

LI T - 602
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Which of the following is not a projective technique ?
(A}  Play technique (B) Word association test
[C) Picture association test (D) Case study.
fr=t F @ FA-6t aeHTE 98T a6 § 7
(A) S T (B) Y= WEEd wiem
() fa= ame=d e (D) Al seE |

Which of the following do not help in understanding the ethnic individual differences ?
(A)  Value system

(Bl Verbal and non-verbal cunmummunn

(C) Different learning arrangements & processes

(D) Intelligence.

wentama safeema fafismed =t wagm § fr 3 4 F01 9egm wifsm 7& g ?
) g EE B) e Td H-wmfes w6
(€ wfamm =t wfrad vd fafm =meerd (D) Ffs

Personality is the dynamic organisation within the individuat-ol those psycho-physical
systems that determine his unique adjustment to his environment. This definition of
personality is given by

(A) Murray (B) J. B. Watson
() G.W. Allport (D) Skinner.

 wafwE =fE § 39 TS aens] 1 TEHE §8T § W A F e 39 agd FeEe

¥ fruifta wxn ¥ | =afeacs =1 9 sftwm &t @
A T (B) Sto o ARHA
(€ o E=go I (D) AT |

The intelligence of children is generally tested by

(A)  Non-verbal group intelligence tests (B) Verbal group intelligence tests

(C)  Non-verbal individual intelligence tests (D) Verbal individual intelligence tests.
W AT G A o

(W o=t wgE qfE Wl F g ) ~ =fas vy afs wieei F o

€ w-=fes = 3fe wheol F g (D) =fes =i qfg wheen F g o

T (ea] - | i
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Which of the following indicates the misuse of intelligence tests ?
(A) Use in assessment for promotion
(B) 1.Q. labels tagged to children a.re.used by teachers as an excuse for inefficiency

(C) Use in classifying children

(D) Use for improving learning process.

fre i | = 9f v0aol F gEEm i ERa M ® 2
() = & fead e § weEs

(B)  dfG @ & Sae Wl WA R HETE S H-Feem ®) e ¥

() T # T w9 H
(D) #frg i =t g = F & o

Which of the following is not a characteristic of backward children ?

(A) The educational attainment falls below the level of their natural abilities.

(B) They are unable to keep pace with the normal school work.

(C) Fall far behind other children of his age.

(D) Possess low intelligence.

fr & & w0 e g are @ fad € 7

(A A wfa wew dramet | w6 W # i Iuete w1 v wm

(B)  wmr= famer w9 & iy 9 fa T8 @ 9w
(€ o 319 F wrerehi A w6 fow 9@ F
(D) = afg TR ¥ |

Which of the following is a direct method of adjustment ?

(A)  Projection (B)
(C) Regression (D)
=1 4 | A afte v geEsE = 2

(A)  gemY ' (B)
(C)  wfemes (D)

LD Ly

Repression -

Substitution of Goals.

wegf 1 wlaears

%
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21. Separate classes and enrichment programmes can be used for the education of

22,

(A)  gifted children (B) low achiever children

(C) gifted and low-achiever children (D) none of these,
Yo Faal ge wad s @ A fon & e e o @
(a)  wiasmemer s F ol
(B) f= difig svefsy el & fod
€)  wfgvreneht wd e A swafe sl % fad
D) i 3w e 1
Match the following and select the correct answer in the table :
List - A
L) Fantasy can be classified as a defence machanism
M) Defence mechanism protects individual form
| Sublimation can be classified as a defence mechanism

0) Compensation can be classified as a defence

mechanism
Codes :
L M N o
[V | 4 4 3
(B) 3 1 4 3
cy 2 4 3 3
(D) 3 2 3 }:

f=1 =1 e w0 g2 & v afeem § | wEt e W 9E =6

gt - o

L) T 01 UE WA F w9 § Fifiga wwwa F
M) ETHE 7 SAfe w1 F99E w5 &
N)  SEETH0 Tl 1&TE o9 % 9 H Tt o g # -
0) wfmyfe = e 99 & w9 F Fitga & o wwm ¥
Lo
L M N o
w 1 4 4 3
B 3 1 4 3
© 2 4 3 3
D 3 2 3 1.

UL [e0a] .

W

K ow N -

List - B
Denial
Escape
Substitution
Anxiety

| B.T.O.
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23. Students with academic difficulties face difficulty of

(A)
(B)
(C)
(D)

mallunction of the ear or associated nerves
abnormalities in spoken language
reduced mental alertness

deficit in practical and social intelligence.

Wit woemeil § uem wwerl =1 fHe gae &1 9 S g € 2

FM 9 3T LI T H HE IHH ¥ HH T F

g uTel % ster # srEreTIm w1 E
() AEfEE afFgm =1 %6 g N
(D) SHEEE Ud wits dfe § FH1 F T
24. Which of the following is a processing deficiency in students with learning
disabilities ?
(A) Remembering information involving numbers, poor sense of time and direction
(B) Frequent hyperactive behaviour
(C) Little muscle control
(D) Reduced mental aleriness.

gy frgtramedl a amsl § weao Tt = § § feg wan ot = ot S g 2

(a)  HEmsi wEed gEaed # A 19 9, 999 ud few i F0 ue
B WA s 9fiFg =EEn
() wEufE w %y faem
(D) w8 uEfas \fEa |
25. The purpose of formative evaluation is to
(A) monitor progress and plan remedial instruction
(B) know the understanding of students
(C) know that teacher's objectives are fulfilled
(D) assign grades.
frmfonens qoaie 1 32w@ -
(A) ~ wfE.HT 7R T UE ITSEHSE S H g S
B) faenfefdl =t wng =1 v T
(€) e & IREEl *i g =1 g Fn
(D) TEE WA HO |

(LT -
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27.

28.
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Which of the following steps of research makes research an action research ?
(A) Formulation of hypotheses

(B) Action programme and final evaluation

(C) Generalization

(D) Rigid research desfgn.
et & & F-m v w1 = iy R e AFEUT T R 7

(A IuFeT F fmi

) S 1 frEreea wd sifon geie

(C) HmEEET

(D) ¥ #Thed F1 FUET / FSR B | \

Which of the following problems is not suitable for action research ?

(A) Improving handwriting of 5th class students in Hindi

(B) Study of the effect of using written praise on 7th Grade students’ behaviour as
compared to verbal praise

(C) Efficacy of computer aided instruction over traditional method.

(D) Use of Atlas and Globe in the learning of Geography.

frem & @ B+ wwen fEarcrs s & fod sge e R 2

@) & A 5w % faafeE & da d gun

@) 77 w1 F faenfeid & sraen w fafes wvim v difas wwiw F gwE w1 qEees
AT

(€ v fafy % FR Frege agafad SeeE F1 9vE

(D) it & sifurs F veers wd e w5 wE |

Which of the following is not addressed in the Right of Children To Free And
Compulsory Education Act, 2009 ?

(A)  Providing training facility for teachers

(B) Ensuring admission to children of migrants
(C) Deciding the academic calendar

(D) Education after fourteen years.

Tl g T s foen w i, 2000 i # @ faa W v T o T € 2
(&) seETe =t wfase w5 glew yem s ® AR e % WEW F gifaa s

0 uFHEE Fem= ) fuifE s (D) 1499 % gy=EmE &t foen

(M ) [ PT.0.
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29. In the National Curriculum Framework, 2005, the activities suggested celebration of
cultural and religious diversity of India, programmes to promote an attitude of respect
and responsibility lowards women and compile documentaries and feature films and
screen them that promote the values of justice and peace are for
(A Education for Peace B} Education for Values
(C) Education for Citizenship (D)  None of these.
MY TeaEgl F9E, 2005 # YAA F1 9ifis vd "iepfas fGfagm & g, el F wfa e
vd faderl @1 gfes F1 9gr & W # sEeE vd g9 fog qw feedl =t o w5
fear s mem | =mg w@ w9 gfg &, 1 g9 ™ ¢ afs

(w)  wif= = foen & W o @ e w5 foen & W =
(€) Amfewm #t foen & o w5 D) T 8w T
30. Maich the following and select the right answer from the table given below :
List - A List - B
L) Organising the experience of the seed germination 1. observing
process
M) A role play 2. questioning
N)  Dialogue on gender-differentiated practice in the 3. participating
family
()  Processing and packaging different kinds of 4. reflecting
products in dairy farm
Codes '
L M N. o
(A) | 3 B 1
(B) 2 3 2 1
cy 3 1 3 3
(D) 4 2 2 2.
fas =1 foem = 28 € ¢ anfersn f 9 9Et 3w W wEm ] e
et - A et - A
L) @S S €1 % F9E T8E HE 1. aer®a H
My el @ = 2. U g
N wﬁaﬁﬁﬁﬁmfﬂﬁﬂwmaﬁiﬁrmﬂmawmﬂamfﬂw 3. e
o) grywmen § fafim gy F sooel ®1 whEw = 3 4.. fo=m /&= s

g fe=n 11 1

COE

i M N o
@A 1* 3 4 1
B 2 3 2 1
C 3 1 3 3
(D) 4 2 2 2

e I E | [cm] .
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YT - I

fe=t

HEEHFA 30WHAE |
|t v wfEd €

=t e = wgE FrefafEs vl ( we e 319 36 ) # wad 3fea fawen gfe
A G w1 W= A e w5 § a9 |l @ wW F g6y #1399 faenem F En
fawiform %33 @ € 1 U @i F A @ o ¥, S w1 36 gftm vt F w9 F @ E
N ot 3% T Iudifmn & fak v oifee &+ 1 9 ove @ € 5 9@ fem o o9 9om 9
TR, TSN TEE IE HW § AR IR- A A FR ¥ wm A ww A o ¥, a@ T
T Wewal e ¥ | A F A 79 IwHiv 23w e faEn 96 e, w6itE amed & fog @
3% fad @™ F1 swavada | gE a7 & T o9 W i g i e wRa e F T gam
F ®9 0 2@Ed € | A uF safeu s wwd €, aife @99 w5 § sfus e % wg auffa @
% | faq wm § 3 da 81 &, T Ha €

31. fr= # aoow wes e ®
) EE (B) oA
) T (D) sTETIFA |

32, ‘s W Aagd ¥

@) = (B) FS
) = (D) 9 |
33. ‘gam' = fawim ¢
. (A wEm (B @M
(C) awEm D) FE
34, Fr-m = ¥ 3w € 2 |
(A) e (B  SuEifm
@ WA D) g |

ARRRR1 VI (602 ] [ PT.0.
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35, F19 99" Tl ¥ 2 www.examrajasthan.com
(A FEEmETT (B) 3w ftars
(C) ki (D) ==
36. ‘smmed’ & ged ¥ w9 v g ¥ 2
o R B) M3
I (D)

o= e = v Frefaten e ( W Hem 37 9 43 ) # wad st fawew gf

TR F w4l 39 ¥ fafa safe 1 w9 wwel Teum 9% w5 € 5 aw Al a6 gwe | w5
FEFEN ® | Faa wia @ o 2w ¥ fand fafin safe 9w wwmn s & S s mmgam F 2w 6
o &1, foreg sfioht § foraet gamn sTefe™ &) | §OR & o9 <9  gHwHa =afw 98 gugn W &
fom® = H a9t w1 gl 1 HuE € o R At 9w oA @ oIt v ¥ o= aas
7 Ffa #1A ¥ 99 T9g-998 W T FA-d Fleat g @ @ ¥ ) wwa F feafa gEd ®
71 9r: WX H He-gen & Ayt Ive o w1 ¥, R A v o w5 g @ s
fear et vedt | 92 graeen w@ @ fad tfmfes ufwa =1 oftom &, frg a® gem =&, graen
1 ¥ st 9= 7F Tw IR FEW ®, v A9 o F, Wt wef § fofem ofn guera 9 W
-2 T AR E |
37. HuR % |l <9 | fofem =f®

(A) AT Ay H 2y B ¥ (B) e s ¥
) Twe-fra @ ¥ (D) 3= 9 W AEE EA ¥
38. ‘wuen ° foas! sam wEfey 91 # TEitea v w1 ad #
(A w2w tfem B) fafe=m
(€) gffrem (D) T
39, FATH IR ?
A o= T (B) wH-6 Ffar
(€)  sot AguT (D) &4 3 |
40. 19 v= gfewm w€T € ? '
() =Af® (B) !-‘ITEITI
(C) IqFM D) wEw |
41. 'W'%agaaﬂ%
A TEE | i
(C) TTewIEd (D) 19 |

TR [e02] .
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‘wfa" =1 e §
(&) = B
() wfe=m i D) Fafwt |
‘urd F feufa gE@ &' w1 qawtos ®9 8
(A) vRa o uHE feufq o - B vma ¥ feufa gudt
(C) wa =+t feufa gadl o (D) ymg F feufa o= o
HI HYT TE T & ?

W g ¥ 31 yqm 3 @ ¥l oiv fE

(B) wal & fawan =1 3¥vg wEa €

(€) “frm % faran =1 fadg #5d § )
(D) 791 &F YR W S99 91 R F g E |

o JU IATE ST S fuE IqErE e g € 2

(A  HYE A . . (B) wifzd a=m

(C) e = (D) fas am=g |
FHfag a7

() TES W T B e & g o

© FTgntfrgmifmrmfomt O ax amm e & dar s i e T
"ATE W W witewt FEA @ fF sHH 7 16T o e &' — 39 A | vaitea geay &

(A)  H ey .(B)  TFa veEy

(C) foFan favmm qeay (D) W=y FiYs ey |
‘wren g g’ o o

(A EE W T e e -(B) gt g

€ fomw g & in %1 8 9% (D) ===m g

' $irdl el F1eT 921 %1 o

(A 32§ fee Frgs 7 o 9 (B HE 4 frwelt W e ot #
(€ A A freed @ 9 8 s (D) = Freem W wfEg & W
‘it o w1 i s wd @ .

(A)  HET T%g S =] ﬁ‘qaa

(C)  SFgwErT O D) s = femmEn |

e =t Foren & =t #

(&) Fefmew sk sfvsafe ¥ fag B) fagr a9 % feg

(C)  w&rem ¥ fom (D) wfewrsR Fam & fom |

T [ 802 | o [ PT.O.
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52. =aER-3aE fafy = e am A ot s s # 2

53.

54.

55.

56.

57.

58.

(&)  EEEEE iy

[C) wvErERt fafy

o T & foreror =1 sy g @
(A) i e |

() fowst sl |

50 U #

(A) =hfad =1 HwEaE

(C) AE& &1 HEaA

e WvER | 3fg & forn waffus s #
(a) T faaon

() =R foam
aﬁrwnmﬁnﬁnm@?ﬁt

(A) TEE T

(€ wifHsF Fre g

A& sl &1 fawe @

(A TEAH

C) FIFWH

fe=1 foreor & IuwAfey 1 9" &1 9N Wt &

C ) STt T A

59.

60.

() =EfEustd
THT 3R Haq gediEd

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(a)  famneff & fog IwEmh g foes & o o &
B) # fuew ik o & 99 e =y AEvas @

(C) foem & € ot oevm &

(D) - & & famdl % =afea = faFm @

v fafy
af= fafg

gfredi
A |/ |

HEH & AT
eSS TE& &1 T |
A1

e farero
e foegor )

EE A CCIE -]
i Ao H |

TR

AEH |

g iy |
Hifas aitan 4

Syamrers fa ¥ fere smavas T @ Www.examrajasthan.com
() ToEm fafy F wwh
1) famdi &t ot ot med 1 sraden T8 w5

(C) ved HEErgs gigw T &
(D) 3= |-E FET |
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

www.examrajasthan.com
Prose ( Q. Nos. 61 to 65)

Many thousands of years ago all men did all types of work. Each man built his own
house and made what furniture he needed and grew all his own food. His wife made
all the clothes for the family and cooked food.

However, men very soon found that it was much better to divide the work among
them, so that one built houses, another made furniture, and another grew corn, and
so on. You can easily see that this was a better plan, because by always doing the
same kind of work, you can do it far more quickly and easily. So nowadays all work is
divided as much as possible. Even such a tiny thing as a pin is not made by one man,
but by a dozen or more, each doing his particular bit of the work. One straightens out
the wire, another cuts it into lengths, another sharpens the point, another puts the
head on, and so forth. That is to say, work is divided among different people.

61 In the third sentence of the second paragraph. “So nowadays all work ...” the word 'so’

indicates
(a) effect [ of a cause ) _ (B) cause ( of an effect )
(C) similarity (D)  comparison.
62. The word 'However' at the beginning of the second paragraph indicates
W_ a supporting idea . B) anold idea
_ (C) an idea in the same direction (D) an idea in the opposite dire;:twni
63. Complete the following sentence with the correct verb form :
ALl work ..cciiinsniisniivinie by all men
(A)  was done (B)  were done
(C) has done (D)  are done.
64. Which one of the following would be an appropriate title for the above passage ?
A All Types of Work . (B)  Types of People
(€)  Division of Labour (D)  Life in the Past.

b5. Tht::__ author of the above passage is of the opinion that the way people worked
thousands of years ago was

(A)  better than the present (B) MOSt proper
(C) most effictent . (D) not efficient.

L [ PTO.
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Poem ( Q. Nos. 66 to 70) '

The squirrel gloats o'er his accomplished hoard,

The ants have brimmed their garners with ripe grain,

And honey-bees have stored

The sweets of summer in their luscious cells :

The swallows all have winged across the main :

But here the Autumn melancholy dwells,

And sighs her tearful spells
Amongst the sunless shadows of the plain.
" Alone, alone, www.examrajasthan.com
* Upon a mossy stone ' .

She sits and reckons up the dead and gune

With the last leaves for a love- rosary ;

Whilst all the withered world looks drearily,

Like a dim picture of the drowned past

In the hushed mind's mysterious far-away,

Doubtful what ghostly thing will steal the last

Into that distance, grey upon the grey.
66. Who has been personified in the above poem ?

, A)  The squirrel (B]  The ﬁmtumn season
(C) Honey-bees (D)  The summer season.
67. In the above poem line 2 rhymes with lines
A) land3 (B) 4 and 6
(C) 5and7 ' (D) 5 and 8.
68. . “Their garners with ripe grain” ( line 2 ) contains an example of
¢ ) simile (B) metaphor
(C) alliteration _ (D)  personification.
69. Which of the following lines contain a simile ?
(A)  lines 14 and 15 (B) lines 11 and 12
([C) lines 3 and 4 ' (D) lines 1 and 2.
70. The rhyme scheme of the last four lines of the poem ( line 14 to 17 ) is
(A) abab (B abe d
(C) abeb (D) abbhb.
71. The modal ‘may* can express the meaning of
(A) advice (B) _ability
(C)  possibility . (D) prohibition.

AR _
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You must not park your cycles here. Here ‘must not' expresses

(A)  permission (8) prohibition
(C) inability (D) probability.
Most students got through the examination.
Here "got through' means
(A) took (B) passed
(c} understood (D) arrived for.
A Shakespearean sonnet usually contains
(A}  seven couplets (B) four stanzas
(C)  three couplets and two stanzas (p) three stanzas and a couplet.
An elegy usually gives expression to a s
(a) feeling of joy (B) sense of loss
(C) [eeling of victory (D)  sense of defeat.
The number of pure vowel sounds and diphthopgs in English is
(A) 8 pure vowels and 12 diphthongs (B) 14 pure vowels and 6 diphthongs
(€ 12 pure vowels and 8 diphthongs (D) 10 pure vowels and 10 diphthongs.
The first sound in the word ‘'yes’ is transcripea as
W /y/ B /el
© /ai/ o /il ‘
Which is the correct transcription of the last sound in the word ‘blue’ 7 .
W /u:/ ' ® /0T /
@ s Bay (D) /oo/.
Pick out the correct transcription of the word ‘take’ :
A/ tek / (B) / telk /
€/ talk / D) [/ teek /.
Which of the following is the correct transcription of the word ‘know’ |
A [ natvy /f (B) J matly /
€ /s nvy D) / kne U /.
English in India today needs to be taught as
A - alixery language . www.examrajasthan.com

(B)  alanguage for higher studies
€ 5 language for communication
(D) adnnguage to be used while travelling abroad.

English hnguaéc teaching needs to be P
(A} teacher-centred . [ﬁ] learner-centred { Q
(C)  lecture-centred (D) textbook-centred. S

(T LTI . e
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83. Communicative Language Teaching stresses the interdependence of
(A) language and psychology (B) language and behaviour
f{C) language and communication (D) language and conversation.
84. The most important element in Communicative Language Teaching is
()  the structure ol language (B) the reading skill
(C) memorization of grammar (D) . meaning.
85. A language learner makes errors because
i)  the learner has acquired ohl}' partial knowledge of the language
(B) the learner has acquired complete knowledge of the language
(C) the learner enjoys making errors
(D) * the teacher has permitted him to make errors.
86. Complete the following statement : ;

Language tests are designed to measure ................ s at a particular moment in the
teaching programme, www.examrajasthan.com

(A)  the learner’s liking for the language
(B) the learner's knowledge of the language
(C) the teacher's knowledge of the language
(M the learner’s attitude towards the language.
87. One of the purposes of evaluation of learners is
{A) assessment of textbooks
(B] preparing a list of learners’ needs
IC) assessment of the learners’ attainment
(D) identification of language functions.
88. Multiple Choice Questions
* (A)  reduce subjectivity in evaluation
(B) increase subjectivity in evaluation
(C) allow essay-type answers
Dy allow students to choose multiple options.
89. A ‘Recall-Type' test is a test of
(A) meino:y (B) imagination
[C) understanding D) speed.
90. The purpose of remedial teaching is to
(A) introduce new language items
| Test recently taught items
(C) teach again the lang;mgf: items not properly learnt
(D) teach again the language items already learnt.

UL LBes) - .
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f& 30 wm@ m anfeT |

, T A e 9 e Sl
3t et Wt i s fevel WA (A 617G 65 ) W ST fed
qféon wq fufer, <ifé o weg@ wgiF @ @ F =i Tt w9 @
STH W ST Wt 381 gy SR 9 st 3w B o | s f5% ¢ mowfas S Hae anfeg o wm §
T, wreTEdt € waerd, Fon € w1 wy oy ofaw wfed snfen femera arwi v <t e €
ffers e e | ey fifvga givga fuy 9fES weea A osmi @ e feen feft o @ o
HRAETH F&1- &1 it ¥ favarw wR f5 #rft wear st SR A s @
e, FE W el T wge w0 o 7, SwsfE sl 99d -y, Wﬁvﬁﬁuﬁmﬁmﬁm
frrare gt it wea St s = gend @
Wi #m F wFa A o W Prerp o 3w W afre st € et wd €A d Al wE 2w famm W
TH o |
IR 'maqmﬁwﬁ@ﬁﬁﬁamwﬂmmmﬁﬁﬂmwﬁ
i1 Tg FOT S gqE Y |
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| e
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TN S G B B)  srEa W A
€ = | D R
& & ge fawm o — | : '
@) g (B) U T
(€ W HEEh EE | (D) | T
fifoga qfem s/ & = faem feit o |
@  g=rsfa B fegmgH
(C) meersfa (D) warwty |
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SECTION - IV (b) / @S - IV (b)

SOCIAL STUDIES / wraifses 3reqa

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

e H Ha 60w § | o snafddl A gw fawa w1 waw e € o ot uw won e @

91. The third decade of 20th Century was significant in Indian history because
(A)  ‘Annals’ by Col. Tod was published
(B) copy of Kautilya's ‘Arthashastra’ was discovercd
(C) Ashoka’s inscriptions were deciphered
(D) Indus Civilization was explored.
YIHg gfemm § 20 & vmee! w1 Fr6 2ve qeeEyel w1 HiE
(A) TAW ZE w1 TAER T TEHEH g B) wifery fafey  sdwwes’ = wfafafy fosh
(€) i = foremeral 1 ag T P oy wam w5t @ g2
92. Which of the following statements is not true ?
(A) There was a decline in Samskaras in Vedic society
(B) The spirit of 'Vasudhaiva Kutumbakam' has been taught by Vedic culture
(C) The treatise Ramayan is smaller in size to Mahabharata
(D)  The elderlies are considered heads of families in Indian society.
 fEddash s smEad ?
() AfeF g gura § d@nl w8 w6 T 9
(B) ‘=9fa FTE=wq' w E dftw e w A R
(C) VY HETYRA i A9en @Y 1Y ¥
(D) I wES H g2 -gel R uRER 1 giEE e e #
93. Which of the following is not a main cause of urbanisation ?

(A) The decline of cottage industry (B) Rapid pnpulatinﬁ growth
C) Rising prices D) Lack of essential amenities.
ﬁ@ﬁ%:ﬁmmaﬁﬁ—mmmﬂﬁt ?
) TR SE e B i e s
() w@dt wEms (D) FEvEs gEawmed w1 e |

(LT | [602] - ’ [ PTO.
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94.. Which of the following was contemporary to the Harrappan civilization ?

(A)  Crete civilization (B) Egyptian civilization
(C)  Greek civilization (D) Roman civilization.
=1 3 A - e sgon G = gEewred @ ?

() = ' (B) o= |

[C) A | (D) 9 Huga |

95. Which of the [ollowing statements is not true regarding the efforts made to improve
the status of women in Indian society ? '

(A} Vireshalingam Pantulu formed an organisation in support of Widow remarriage at
Madras Presidency

(Bl Jawaharlal Nehru and Subhash Chandra Bose supported the demands and more
freedom to women
(C) Pt. Ramabai made efforts to improve the condition of women in higher classes

(D) Tarabai Shinde supported the orthodox beliefs regarding women by publishing
the book ‘Woman-Man Comparison’.

et T afeenst =t feufa d gqur =t e A 2 ™yl F o= A e 9 | -
FY HEl T8l € 7

(A T AR § e 4y A fava- faae & snda 4 uE b T
(B) wEETETE YeE UH UM 9= w149 3 ufeensii ¥ fog sfus @ vd w9 o gnea
() fedm vwaE A et snfedl 1 nfeensd ® gdwm g @1 warw fE
(o) TREE fiE 3 'ell-gee ge’ T 4 e yeivE w1 S F e o sfgad famd @
g4 |
96. “The employees earn salary while peasants plough the king's land.” With reference to -
which ruler was this statement made by the Chinese traveller ?
(A} Harshavardhan (B) Chandragupta |
(C) Chandragupta 11 (M Samudragupta.

Y Sairht @ safs w5t gfa S § 1 S5 9 W 9w wen e oves §
w= o e T ?

. (A EdEdA (B) H=H I
() ==TH I (D) HERTH |
97. Which Chola ruler captured Kanchi defeating Pallavas ?
(A) Parantaka [ (B) Adityal
(C) Vijagalaya ' (D) Rajendra Chola II.
fore <ot wITeR - Toea! & g0 el W SAHwR o fea 2
(2 I E B) anfed |
© fEEem (D) = =4 11

T L | 602 g
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Which South Indian dynasty di'.rided the State into Nation [ Rashtra ). Kottam and
Village ( Gram ) ?

(A)  Cholas (B] Pallavas

(C) Rashtrakutas (D)  Chalukyas.

afiqur wrm & fofm e A 159 1 T, FEW a am H fawifem fea ?

(A) kS (B) dHeoE

() TEERS D) =g o .
During the rule of which dynasty did Kanheri University became popular ?
(A)  Rashtrakutas _ (B) Cholas

(C) Chalukyas (D) Pallavas.

feFm T % A SR favalaaem gfve gan 7 v
(@) TEEE @®

(C) - =TT (o) e |

In which state is Rampurva's Ashoka pillar with Bull Capital located ?

(A) Bihar (B} Bengal

(C) Assam (D) Uttar Pradesh.

T F1 99 yirdamen s @ fFm o i g 2

) faEr B @

(C) wEw (D) =¥ WaW |

Which of the following saints propagated Sagun worship ?

(A)  Kabir (B) Nanak

(C) Nimbarka (D) Dadu.

A= § 4w vfe =1 y=aneE 99 a9 .

() wE (B) A=

) Fras D) =F |

Which of the following statements regarding Mughal Art is not true ?
(A)  ‘Ibrahim Roza' is in Bijapur

(B) Akbar got Fatehpur Sikri built after 1585 A.D.

(C)  Akbar's tomb is in Sikandara

(D)  Shah Jahan got Takht-e-Taus built in Delhi.

A HIEA Hell & =9 § HA-9 HUF FATI § ? '

() #RRgE H gamem Ten’

(B) mﬁﬁ'ﬁ'ﬁtﬁﬁ'& 1585 %o & =g awarg

() HehdT =hl Hah=gd] ﬁlm o g

(D) el A foee # we wsy sEn |

duwnw | 602 | - 8 [ PTO.
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Maharana Pratap died al the age of
(A) 67 years (B) 54 years
(C) 57 years (D) 49 years,
HETO WaTd =1 Heg & HH9 Ay 4l
n) 67 = (B) 547
) 57 D) 4979 |

The 30 per cent cotion cloth export of the total Indian export around 1800 A.D. was
reduced in 1870 A.D. to

(A) 25 (B) 13
) 8 (D) 8.

T 1800 % AH-TW wiata frafa § gt 98 %1 wfovm 30 =0, =i isméoa%qmﬁm-ﬂ
witem ® T 7

A 25 B) 13
) 8 o) 3.

In Modern Age. women too encouraged writings for awakening and social reéforms.
They wrote several books. ‘Aamar Jiban' published in 1876 A.D. was written by

Al Rashsundari Devi (B) Kailash Bashini Devi
(C) Roguaiyva Sakhawalt (D) Pt. Ramabai.

afeensii A ot srrom @ g gur ¥ enyfe e o dwA w e = v e s wm A
ITMA F s fagl 1 1876 o H wRIlym 1Y ' 3R e F Al of

(A)  TEg=l e (B) ey anfget 2t

(© T drEmEd (D)  fgan TamETs |

The Constitution of India was adopted by

(A Constituent Assembly (B)  Parliament

Q) Lok Sabha (D) Rajya Sabha.

wrera dfave w1 sifiga =

() wfaus 9 g \ (B HEsEW

(C) <= 9w g (D) TF |9 W |

In which part of the Constitution of India does the term, ‘Secular’ was added later on ?
(a) Fundamental Rights (B) Directive Principles of State Policy
(C) Pregmble (D) All of these.

vy iy veraen, fod s F S T, w1 oo v d@faae & fee am d faeen # 2
) e e # B) Hifa fRws a= d

© e (i) A D) THIERF

LT [ 602 | ”
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108. Which Article of Children's Bill of Rights ( 1992 ) says, "I have the right to know about

my rights” ?
(A)  Article 42 (B) Article 12, 13
(C) Article 23, 28, 29 (D) Article 36.
arerhl & fui faw (1992 ) W - AT 9% Fow €, gR W AfER F SR
s ¢ 2
() =T 42 ‘ - (B FWT 12, 13
(C) #T=eT 23, 28, 29 (D) 3 =T 36
109. Which of the [ollowing is not a fundamental right ?
(A) Right to Equality (B} Right to Freedom
(C) Franchise : () Right Lo Constitutional remedies.
frer § | #9-w vifes sfiywr @ & 2 :
(A)  TEEE w1 AfyER (B) HEaHd W AfMEwR
(C) W = AfkHER (D) HawfEw IvERl 1 Afwr |

110. In which Article of Part 'IV a' uf the Constitution have Fundamental Dulies been
incorporated ?

(A) 51a (B] 42
(C) 50a (D) 52.
n@ﬂﬁiﬁ?uﬁﬂn%m |\ ﬂiﬁrﬂaﬁzﬂmﬁﬂa ?
(A) 51 .(B) 42
(C} 50 (D)  52.
111. Which of the following statements is not correct regarding the Election of the
President ?

(A) The objections related to the election can be raised only in the Supreme Court
[B] The votes of all MLAs have equal values
(C)] The votes of all MPs have equal values
| (D) The nominated members cannot exercise their franchise.
gt g9E § grafym e aea ®
N T watm faare fak ss=an e F € 3o w9 §
(B) @it faursl F 7@ T9m T @ € '
(€) wt wiEE F wa g geg A ¥
(M b g maeE § um T ® g €
112. The 73rd Constitutional Amendment for making Panchayati Raj Institutions more
effective and more powerful was passed in ;
[A) 1990 (B) 1991

© T2 (D) 1993.
darat e Hensl ®t waret wd wws e F foe 73 o @feem d@eine e od oifa gan 2
(A) 1990 (B) 1991
© 1992 (D) 1993,

ININRIN 18 [ P.TO.
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113. What percentage ol Women's reservation was availed of in the election of local bodies
in Rajasthan in August, 2010 ?

(A 30 (B) 33
cy 50 (D) 10.
e s, 2010 9 g g FeEl & gae o gfeensi 3 amev w1 e wfaee e
IaME ?
(A) 30 (B) 33
(€ 50 (D) 10.
114. The Head of Municipal Corporation in Rajasthan is called
A)  President (B) Mayor
(C) Chairman (D) Nagar Pramukh.
e § AR T & W@ # Fed § >
(A)  srensy (B) wETHR
(C) Hvmfa (D) R 9gE |
115. The total number of members in Legislative Assembly of Rajasthan is
(A) 200 (B) 180
(C) 160 (D) 210.
e faurrast § Fo gesdl it den § '
A 200 (B) 180
[C) 160 D) 210.
116. In which ocean is ‘Mariana Trench’ located ?
(A)  Indian Ocean (B) Pacific Ocean
(C} Atlantic Ocean (D) Arctic Ocean.
o e | ‘Afam W fem ® 2
(A)  fe= wR@ErR (B) W9 HETHIT
(C) . ¥ TETETR (D) 39 & =\ |
117. According to arca which is the largest and smallest continents of the world ?
(A)  Africa and Australia (B) Asia and Antarctica
(C) Asia and Australia (D) North America and Antarctica.
HAFE F AUR W favE w1 wEd g1 i wed g weg €
(A)  FwE wE s (B) ufern ud weEhfew
() i uE sAneferE (D) I R v Rl |
118. Which one of the following is not a sphere of the Earth ?
(A) Atmosphere (B) Dzurfnsphere
(C) Bf@sphere (D)  Lithosphere.
Frefefea d | FR-w uw gt =1 ofmves 1@ & 2
(A SIHTET (B) @i moEe
(€ = HuEw (D) =& 9vEd |
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One of the main causes of wildlife loss is the
{A) loss of natural habitat (B) construction of dams
(C) Mood (13) urbanisation.
g1 Wit F W €11 T T UgE R f
(A) Wit stETE w1 AR A @) =i
(C) == . (D) FREHI |

In which one of the following regions of the world intensive subsistence agriculture is
mosl prevalent ?

[A) Temperale region (B) Mediterranean region
(C) Monsoon region (D) Semi-arid region.
fava & F=fafen o 4 fra o wu § 7ea fak s afus wfm & 2
(A)  wirren wEw (B)  HIHPEE WeW
(€) wEEHA w=w (D) WIEY=F W_Y |
Which landform is known as ‘roof of the world' ?

(A)  Great Himalayas (B) Pamir Plateau

(C)] Tibetan Plateau (D) Deccan Platean
FA-H1 Y- ‘fava €1 29’ F AW | 99w g 2 )

(A)  mE feweE . (B) UrHR w1 w=R

() frssm #1 9en (D) =f&m % 9Br |

In which state ol India ‘Kal Vaishakhi' winds are usually prevalent during summer
season ?

(A}  West Bengal (B) Assam

{C) Orissa (D) Bihar.

i & fFa g § it sy o gmraan Ee derdt’ gard et € 2

(A ufyEs Eme ' (B) 1HH

(€ I D) faEm

In which area of India is Yak animal found ?

(&)  Sundarban (B) Arunachal Pradesh
(C) Darjeeling (D)  Ladakh,

YRa & T a9 o o oy faea & 2

A = (B)  3rEUmEd WE

(C) ersifem (D) *wE |

Which one of the following places is having manufacturing unit of antibiotic medicine ?
{A)  Hrishikesh (B) Dehradun

(C)  Shimla (D)  Chandigarh.
frefafaa § 9 59 e A W udEdfes gaedl &1 30es 59668 © 7

(A)  wEE (B) =®UgA

(€ forEen (D) 3R |

AR [eoa -
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130. In which year was ‘Consumer Protection Act’ introduced in India ?

(&) 1982 : (B) 1986

() 1988 . (D) 1991,

WA T I W sifufm fwm ad J & e 2

(A) 1982 (B) 1986

(C) . 1988 (D) 1991,

131. Which one of the following statements is correct for the Aravali ranges 7

(A)  Helpful in rainfall (B) Suitable for hydro-power production
(C) Act as a water-divide (D) :'k barrier in transportation.
frfafas 8 @ F-W o w99 sEet afoet % fag wdt & 2
(A) =l H WETEE B) v fae@ 3R & fog 39gw
© v favres =1 w5 w @ (D) 9ftEed ¥ fou sEdus |
132. Which one of the following is a traditional method of rain-water harvesting in
*  Rajasthan ?
(A} Tank B Well
(C) River (D) Tanka.
ffafas 4 @ $4- mwmﬁwaﬂmaﬁmﬁm% ?
(&) T B)  FHA
© == (D) =& |
133. In which district of Rajasthan is Chhabra Thermal Power Station located ?
A} Kota (B) Baran
(C) Jhalawar (D) Sawai Madhopur,
o & farg Frd H e At w e e & 7
@ | =i
L ©) wwerETs (D)  WaTd "I |
134. Which of the following pairs is not correctly matched ?
Industry Location
(A} H.M.T. — Ajmer
(B) Ball Bearing — Alwar
(C) Cement — Morak
(D) Electric meter Jaipur.
frefafaa § @ #-mW g 98 gt it
EG wWE
(A FegEm Wi TEE (TEE) - T
(B) @i faafin — et
© HA= — A
D) fawga = — AR |
TN - P [ PTO.
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140. In which district is the historical place ‘Mangarh' situated ?

(A) Dungarpur (B)  Pratapgarh
(C)] Rajsamand (D) Banswara.
ifrefas we ‘g’ TeeR & T fae o fam @ 2

(A FWE B T

(C) T=HEE=S (D) aigaTE |

141. The study of Social Science is necessary for

(A) The understanding of the socio-cultural structure and its relation with
environment

(B) The development of infra-structure facilities
(C) The rapid economic development
(D) The understanding of educational problems. )
armifes fagm sreraa =t smavawa ¢
(A wmifas-wiesfs 99T U6 39S waE | g F 99ee § foau
(B) wf=mm gfawmst & fem F g Www.examrajasthan.com
() dta anfif= fawmg & fou
(D) Heforr guEna Fit gwEA & faw
142. Which one of the following is the new concept in Social Science ?
{A)  Accumulation of factual information
(B) Study of social customs
(C) The study of human relations and betterment of soclety
(D) The study of international relations.
Frafafea & | amfas fagm #1 &R doeen FE-d ¢ ?
(A) TS GO W OUEHA wON
(B) wmHISF Wi 1 g
(C) W Tl w1 g Td §ES w48 "
- (D) FEEEE Tl w1 e |
143. What is a prime necessity for a Social Science classroom ?

(A) Site, formation and space (B) Attached library and reading room
(C) Display factlities (D)  Facilities for experiments.
wmifo fagm wa-wy *t yyw sEvwsa 27
(a s, === @ == : (B) YEOHEE US STEAEd & Herd g
(C) we¥A =1 g (D)  wEri T giEw |
144, The classroom processes in Social Science help in developing
(A) Knowledge (B) Skl
(C) EXpression (D)  All of these.
wrfas fagm & wan-wy wirn Psfmsa d mwas oo
@ = (B) T
© sfirfs D) ¥R

mamm : [ PT.O.
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145. The main problem of Social Science teaching is

(A) small classrooms (B)] increasing teacher-student ratio
(C) untrained teachers (D) - lack of library facilities.

e faam s 1 wqa e &

(A) TR FE-FY (B) HAYH-BTH A9 # gz B

() awfafim e (D) YEEed giamad § &

146. Which one of the following project types has been suggﬂted by Thomas M. Risk for
secondary schools ?
(A) Social projects (B) Economic projects
(C) Productive projects ' (D)  Environmental projects.
frefafas § @ #19-T T TG T YHR 998 e o 3 mafus faaesl & fou wfiafea
fFm @ ?
(a) W g B  sfw g
(©) SweE WEeE (D)  afaTdia g

147. Which one of the following is the main objective of evaluation in Social Science ?
(A) Assessment of the knowledge of the students
(B) Better classroom teaching
(C) Educational planning
(D) Social development.
frefafas § & -1 & afes e f Er F q@ siwa € 2

www.examrajasthan.com

(A) Bl F FE F A" (B) W FET-FE AT
[ s Feem (o) -\ fawma o
148. Which is not a characteristic of a good evaluation ?
()  Validity (B)  Reliability
(C} Diagnosticity (D)  Negativeness.
D WEAiHA F1 FA-9 0F Toavraw @i @ 2
(A) Awm B) favEsEm
(©) e (D) TR |
149, Field trips are useful in Soclal Science for the
(A) Evaluation (B) Empirical evidences
(C) Entertainment D) all of these.
wrafes fagm § dfta yoror swant gf &
(&) HeaEwa % fed B) srviys e & T |
() WA & fog D) THAA I
150. Which type of teaching alds are most useful in Social Science ?
(A) Models (B) Museum
(C) Audio-visual aids (D) Drawing'equipment,
nmmﬁauﬂmmﬂmmmmﬂﬂﬁt ?
(A HfEE (B) wuEEE

(C) F¥9-7=a |l (D) FEM TIERT |

HIRNIIR
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SECTION - |
CHILD DEV. &
PEDAGOGY
1 A
2 D
3 B
4 A
5 D
6 B
7 B
8 A
9 D
10 B
11 B
12 A
13 C
14 D
15 D
16 C
17 A
18 B
19 D
20 D
21 A
22 C
23 B
24 A
25 A
26 B
27 C
28 D
29 A
30 A

SECTION - Ii
LANGUAGE - I

HINDI ENGLISH SANSKRIT URDU SINDHI PUNJABI GUJRATI
31 C 31 C 31 B 31 D 31 C 31 D 31 A
32 | BONUS | 32 A 32 A 32 D 32 B 32 A 32 D
33 D 33 D 33 C 33 A 33 A 33 A 33 C
34 B 34 C 34 A 34 A 34 C 34 A 34 B
35 D 35 B 35 D 35 B 35 B 35 C 35 B
36 D 36 B 36 C 36 C 36 A 36 C 36 A
37 A 37 C 37 A 37 B 37 C 37 D 37 C
38 A 38 A 38 B 38 B 38 B 38 B 38 A
39 C 39 B 39 A 39 D 39 B 39 D 39 D
40 B 40 B 40 C 40 B 40 D 40 D 40 C
41 A 41 D 41 A 41 C 41 A 41 B 41 A
42 D 42 C 42 B 42 A 42 C 42 D 42 B
43 B 43 C 43 C 43 D 43 D 43 D 43 C
44 D 44 B 44 D 44 C 44 A 44 B 44 D
45 D 45 A 45 B 45 D 45 B 45 B 45 A
46 C 46 C 46 A 46 A 46 D 46 A 46 D
47 C 47 D 47 C 47 C 47 C 47 D 47 A
48 D 48 B 48 B 48 B 48 B 48 D 48 B
49 B 49 C 49 C 49 D 49 C 49 C 49 A
50 B 50 A 50 A 50 B 50 D 50 A 50 D
51 A 51 D 51 C 51 D 51 D 51 D 51 A
52 C 52 D 52 B 52 A 52 D 52 D 52 C
53 A 53 B 53 C 53 D 53 C 53 B 53 B
54 | BONUS | 54 C 54 C 54 C 54 C 54 D 54 D
55 A 55 C 55 A 55 B 55 A 55 B 55 C
56 A 56 D 56 D 56 | BONUS | 56 D 56 D 56 C
57 D 57 A 57 A 57 A 57 C 57 D 57 D
58 A 58 D 58 C 58 C 58 A 58 D 58 A
59 | BCD | 59 B 59 D 59 D 59 D 59 A 59 B
60 A 60 A 60 C 60 D 60 B 60 D 60 C
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SECTION - IV (a)

MATHS. AND SCIENCE

SECTION - IV (b)

SECTION - liI
LANGUAGE-II

HINDI ENGLISH SANSKRIT URDU SINDHI PUNJABI GUJRATI
61 C 61 A 61 A 61 A 61 C 61 A 61 B
62 B 62 D 62 C 62 C 62 B 62 B 62 A
63 A 63 A 63 D 63 D 63 D 63 D 63 AD
64 AC 64 C 64 B 64 B 64 A 64 C 64 D
65 C 65 D 65 C 65 C 65 C 65 B 65 C
66 D 66 B 66 B 66 B,D 66 B 66 B 66 B
67 C 67 D 67 C 67 A 67 B 67 A 67 D
68 D 68 C 68 C 68 D 68 D 68 A 68 A
69 A 69 A 69 B 69 C 69 A 69 C 69 A
70 C 70 A 70 C 70 C 70 B 70 D 70 C
71 C 71 C 71 AB 71 D 71 B 71 C 71 D
72 B 72 B 72 C 72 B 72 D 72 C 72 C
73 D 73 B 73 B 73 D 73 C 73 B 73 B
74 A 74 D 74 A 74 | BONUS | 74 B 74 D 74 B
75 B 75 B 75 B 75 A 75 C 75 A 75 A
76 B 76 C 76 C 76 B 76 B 76 C 76 C
77 B 77 D 77 B 77 C 77 C 77 C 77 D
78 C 78 A 78 B,D 78 C 78 D 78 C 78 A
79 B 79 B 79 | BONUS | 79 D 79 A 79 B 79 A
80 A 80 A 80 B 80 C 80 C 80 D 80 D
81 B 81 C 81 A 81 B 81 C 81 B 81 C
82 | ABD | 82 B 82 C 82 B 82 A 82 C 82 A
83 D 83 C 83 B 83 B 83 C 83 D 83 C
84 C 84 D 84 D 84 C 84 A 84 D 84 B
85 D 85 A 85 D 85 C 85 D 85 D 85 A
86 B 86 B 86 C 86 C 86 B 86 B 86 D
87 C 87 C 87 B 87 B 87 C 87 B 87 B
88 D 88 A 88 A 88 A 88 D 88 B 88 C
89 D 89 A 89 C 89 C 89 D 89 A 89 B
90 D 90 C 90 B 90 B 90 C 90 B 90 C

91 D 121 C
92 A 122 D
93 C 123 A
94 B 124 C
95 D 125 A
96 B 126 A
97 C 127 D
98 A 128 C
99 D 129 D
100 A 130 A
101 C 131 D
102 B 132 C
103 D 133 B
104 B 134 C
105 D 135 A
106 A 136 A
107 C 137 B
108 A 138 A
109 C 139 D
110 B 140 B
111 A 141 C
112 B 142 A
113 C 143 C
114 A 144 B
115 | BONUS | 145 | BONUS
116 D 146 A
117 D 147 D
118 C 148 B
119 D 149 D
120 B 150 A
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SOCIAL STUDIES

91 D 121 D
92 A 122 D
93 C 123 B
94 B 124 A,D
95 D 125 C
96 C 126 B
97 B 127 A,B
98 B 128 D
99 A 129 A
100 A 130 B
101 C 131 C
102 B 132 D
103 C 133 B
104 D 134 B
105 A 135 A
106 A 136 A
107 C 137 | BONUS
108 A 138 B,D
109 C 139 | BONUS
110 A 140 D
111 B 141 A
112 C 142 C
113 B 143 AC
114 B 144 D
115 A 145 | BONUS
116 B 146 C
117 C 147 A
118 B 148 D
119 A 149 B
120 D 150 C
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